prers CsHuded sb@uall GHUGALL wmp Hforalisse FlLgos
BeLpapULBSSwg.

(@) smar uRiGsd . 40 oigd WG CERISHL LkiGSTS
@mpésiiuiab weagiflenn LGS @ 75 6i5b PpYaIFID
QeSS LIBIGSHETTS GDESLILL 2 GTeTg).

(<) sLer LGHTD aausHBlueiser saseng CamyREEHHE
PPEIGILDTS FT&E LOHMID HLcnaflsenar TH5GE QETeRTL M.

(@) Bleoid LDﬁ)@JLb sl igL b U 30% e wiggiuL o drargl. dumpl
Hmib @ubSrd 30% Caiisrerd GeluiiLL 2 6Tergl; i

(@)  spumeT LHHID LTSS QFTSSIESET ASDDLILIL 2 CTaTSE).
(22) w Smorafsse Gewa] 5. 5,000

0L 6 Lfldaar 55 bppl Piorassa Gpd Hoe
- Sifls@ms swmi Ges. ’
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Time : Three hours

10.

Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions. ¢
What is meant by allotment of shares?
U@ &I16&EH eTemmmed erebmeor?
Explain capital rede,mpt’io,n. reserve.
epege B L &miL — elleré@s.
What is firm underwriting?
LIkI@ @UILIMIS GTEmmTe) cremmen?
List out any two types of debentures_. ,
sLen Lgdriisafilen aimsser gCaaibd @reymar auflensiLiBHgis.
What is meant b3; profit prior to incorporation? '
@ ODeuTEsSSDE, (PHensl QLD GTETDTe) GTae?
What do you mean by balance sheet?
@muy Plavewd @MUY eremugen QummaT eremen?

Explain — bad debts.

TS SLcseT — olleTéEs,

Give the meaning of managerial remuneration.

Gueraimento 2arFib eramgerm 6 LmHET S[Hs.

Mention any two factors determining the value of goodwill.
BHHGUWIT Loglulﬁlmsﬁ Siorefsdleann gCaaid @ran® sryamilsmend
G NICES ‘ '

What is net asset value method of shares?

uiidlen flar Qersgl L PeD GTETDIE 6T6e?

1

ing

Coroate. Heco

1 B Com (&)

—
-——



11.

12.

13.

14.

15.

16.

What is Internal Reconstruction?
2 6T W BITOTalSHE eranmmed cremen?

Explain the need for capital reduction.
gpgaT GepULEsTar Coanaian adlendEs.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

A company issued 10,000 equity shares of Rs. 10 each at par.
The issue was underwritted by Swami and Co. For one
maximum commission permitted by law. The public had applied
for and received 8000 shares. Give necessary journal entries in
the books of the company.

. 10 wglyerer 10,000 s umGsmar e WHIND m Hmwbd
Gauafllll L g Q@Qpbs Geueflui®) uweugid &l womd  Car
Ppauasdlamed olfserdg 2l ulL =fls uls sPdpéster
guypdlueaiissiulLg sl rarmisafler 8000 UREGSEREES
aflarent 988 ieupenpl Qupm Qarammt. Gsameuwrer LHe seamer
Bnwgden g@seiia 5s.

A company issued 4,000 5% debentures of Rs. 100 each at a
discount of 10% payable Rs. 30 on application and balance on
allotment. Pass necessary journal entries in the books of the
company. '

R Bl 5% o L e salqgw 5. 100 wllijerer 4000 a6 LS Trisaman
10 sgeidls  gatepugwWler Qeaefil@iLg. usdyd @amnss
eQameniiugden Curg 5. 30 b Beow assigen Gumgb
Ae@ibgiousns o atarg. Bipiwsden g@aeien WsHGHMICLLE udeysd
S([H5.

What are the methods of redemption of debentures?

sLam LSS 5L L) PEDESET WiTeneu?

Ascertain cost of goods from the following figures :

Rs.
Opening stock 8,500
Purchases 30,700
Direct expenses 4,800
Indirect expenses 5,200
Closing stock 9,000
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On the above date the company adopted the following scheme of

reconstruction.

(a) The eqliity shares are to be reduced to shares of Rs. 40
each fully paid and the preference shares to be reduced to
fully paid. Paid shares of Rs. 75 each. :

(b) The debenture holders took over stock and debtors in full
satisfaction of the their claims.

(© THe land and buildings to appreciated by 30% and plant
and machinery to be depreciated by 30%.

(d) The Fictitious and intangible assets are to be eliminated.

- (e) Expenses of reconstruction amounted to Rs. 5,000

Give journal entries and prepare the reconstructed balance

sheet.
$1.12.2016-& anflely Qzmher gip @QnHbae fsms
" 1 Qeeu(mLomm) :
Qurmtiyser €. QEnggIHs6T 1.
LITEI(S (LPGOSEIILD : : BOGLIWT o -45,000

6,000, 6% wergyflens  6,00,000 Hlewd HOID HLigL b 6,00,000
Li@gser ap. 100 6liso

12,000 srgm uti@ser 12,00,000 Qumdl.opmo @updyn  9,00,000

5. 100 iz

8% &L e LSS D 3,00,000 sr&@ 1,30,000
eumid) Goe euaniyay 3,00,000 sLamreflger 1,40,000
ue amswurer sLafCsTT  1,50,000 Qrrésin 15,000

@eoru pLL & Sawrs s 7,00,000
<oy Qseeyser 20,000

25,50,000 25,50,000
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ufiglorar semeesflar @emu pLL samsE 31.12.2016-6 Weramworn
BoHss). @erusdd 5 aflwsasrh Cuenearmn QUEEHmEE se) 7
Ceuam®ib cram sanradHa. Guamar Quéepiler sbuand sfleden e
UGHWLNE &g Couarm(Hib.

QaruplL &/@G
- €.
IIDL §7EE [BLIL| 10,000 &9prienar 1,70,000
Cuandlwuid : 2016-&srer WP.e] ETEG 15,000
CogiFlwuw g, 500 6,000
QUIEGBIT &L aTLd 3,000 “p Gu@wrrsmi; SET(EHLIG 2,000

Cuenarand @uéEEpiT Fbuard

2,000 flera Qarisg edpuemen @b

1,000
siflay 1,000
euaTiTEd Ser(enilg ST 800
au@pLTe auiflé s . 3,000
Airauns Qsaey 40,000
W&SL{ efpuameanie L 200
Bl&r @muib 1,22,000

1,88,000 1,88,000

23. Explain the need for valuation of shares.

LBIGsmer LG Couamg wigar Seufliugms efarsss.

24. The following is the balance sheet of Harrish Industries Ltd.

31.12.2006.
Liabilities " Rs. Assets Rs.
Share capital : Goodwill ] 45,000

. 6,000, 6% preference share
of Rs. 100 each

6,00,000 Land and Building 6,00,000

12,000 equity shares of Rs. 100 each 12,00,000 Plant and Machinery 9,00,000

8% debentures 3,00,000 Stock 1,30,000
Bank overdraft 3,00,000 Debtors 1,40,000
Sundry creditors 1,50,000 Cash 15,000

Profit and Loss A/c 7,00,000
Preliminary expenses 20,000

25,50,000 25,50,000
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17.

18.

19.

Spaam_cunBleBhg Qurmeien <i_ssefanawens sam_Hls.
QgrLsas srédmLiLy 8,500
Qamerupsea 30,700
Crpirg & Qgewayser 4,800
D (p&F Caweger 5,200
Qmé srsdmLiy 9,000

From the following particulars relating to Y Ltd. Calculate the
value of shares if majority share are to be sold.

(a) Share capital : 20,000 shares of Rs. 100 each fully paid

(b) Profit (after deduction of tax and dividend for last three
years : Rs. 4,50,000; Rs. 7}{,00,000 and Rs. 5,50,000)

(¢) Dividend paid for the last three years 12%, 15%, 18%.

(d) Normal rate at return 10%.

Y AfGi~ar  Qsmiiyerw et  sseudseais mhs

Quepburerer UkiGsE efduemear QeI GmEBSTO UkiGsaiean

whHlemus sarsd (s, ' ‘

(&) umE wegand 20,000 ukigh . 100 &Ssbd eiowrs
QaggguuLng. \

() sLBS epaiy eumegdpater Qarub (aufl whmb LRSTSWLID
Brusams . 4,50,000, 5. 7,00,000, 5. 5,50,000)

(8) sLbs epeny cuBLSHDE LEsTESLD Qeqsdug 12%, 15%, 18%

(FF)  eupsswTar aumomer eldsn 10%. '

What are the various methods of calculation of goodwill?

;_r,g'p@LMmu sarSE L LLIHD LoGaum (PEmEET WTeneu?

Ram Ltd. having a share capital of Rs. 3,00,000 divided into
3000 shares of Rs. 100 each resolves to sub-divide the shares
into 30,000 shares at Rs. 10 each. Pass the necessary journal.
entry.

3,000 uni@aer (5. 100 eSgid Lkig epge ep. 3,00,000 Ga e éE b

gmb  swGuel. 30,000 uki@sd @ 10 &Ssd Coaibd @fss
Yylau@&dng. @bs Hapelamen GHLICLL D Lbs.
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20.

21.

SECTION C — (3 X 10 = 30 marks)
Answer any THREE questions.

Raman Ltd., issued 10,000 equity shares of Rs. 10 each. The
terms of payment being.

On application Rs. 2
On Allotment Rs. 4
On First call Rs. 2
On Final call Rs. 2

It Received 8000 application. All sums due on allotment. First
call and final call were received. Pass journal in the book of
Raman Ltd.

ep. 10 wduyerer 10,000 srgmiyemnt LTl &8 en 6 @Unmm ANAGI_L eTemm

‘FbGual GeuefludiLg. Sp&EaaTL_eumm) Qgreangsear CeauSsriuL

Ceuamrig udl (b gen. .

) G¥oT GwoT LI LIS 51 L 60T . 2
R&IGS g6 Bg) ' 5. 4
(PSOTEUG] DienLpLIL| (p. 2
Qms empliy - 2

@rmoer SAALL 8000 umi@gs  srer eflamariLmgmen GUDDS.
SepLiL&E@EhD GCampuulLgl. UnIGseaT Bg Qeass Ceuriqul LIGHTD
Wppaugid CegIsgslLLL gl Qrrwen  sbCuell ghseflédr Gelw
Cauairigw GHLUICLLH Ldla|smens S([Hs.

On 1.1.2000, XY Ltd. acquired the business of X taking over all
the assets with the exception of books debts, which it under took
to collect on behalf of X and out of the proceeds, pay the
liabilities owing at the time of transfer, At that date. The book
debt amounted to Rs, 54,000 and the creditors Rs. 37,000. The
company agreed to do the job for vendors at 3% commission on
amount collected and 1% on amount paid.

The company could not collect Rs. 2,800 from existing debtors
and allowed Rs. 300 as cash discount to the Remaining debtors.
The company could collect a time banned debt, which was
written off as bad by vendors, of Rs. 2,000. The company paid Rs.
35,000 to creditors in satisfaction of total amount due. However,

‘the company was forced to meet a contingent liability on bills

discounted by vendors Rs. 3,000
Give journal entries in the books of XY Ltd.
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22.

1.1.2000 ey XY dmiobd, X ererueung creoer QETSgISsmaTLD
(Fl@ss e sedly) ahsgs QaramLg. <pemd 2ABS  gL(E
sLeansmer 3% sflefld cusdlss sy @ULES Qsmamig. wLTHOD
Qaiiweyd mrefle) o eter GUTMIILSmETLD ASO(BHS &7 FDLSSS.

wrHpd  Qeiugd prefld e drer glBEsLen LHMD Aurmtiyser
wenGu m. 54,000 LHmb . 37,000 G0 gTms dsaisgieHRib
1% sley srGeue (Hib. ‘

Ao gt @& sLasalle . 2,800 g Qs Guaaidama Gogib
5. 300 Qurés S6TEpLIgU|LD. erEhlaTeT SLaTmeflS@EméE allssg!.

sreoraugurear sLasaile g@meafllimbg . 2,000 UG55I
aal__eﬁ'r_is@g,rr@é;@ . 35,000 Qar®ss!. a;l_eo‘?f_rng,rrr’r Qzrens Crir
Qe Lg. Cogib oargwed el Celeudd, BHlspapr
Qurmiurs 5. 3,000 sr Ceuamguimbg XY How  gligeld
GOUGUL B udledlaneats &ms.

From the following P and L A/c of Parithiman Kaligan for the
year ended 31.12.2016 and additional data, calculate managerial
directors commissions at 5% of net profit. Salary of managing
director is to be treated as part payment of commission.

P and L A/c
Rs. Rs.
To opening stock 10,000 By sales 1,70,000
Bonus (including Rs. 500 Closing stock 15,000
for 2016) 6,000 '
Directors fees 3,000 Other income digcount 2,000
Managing director salary 2,000 Profit or sale of
fixed assets 1,000
Commission 1,000
Development rebate reserve 800
Provision tax 3,000
Establishment Exp 40,000
Loss on sale of investment 200
Net profit c/d 1,22,000
1,88,000 1,88,000
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